
Space Saver Fixed Height Arm
Desk Length - "88"



Space Saver Fixed Height Arm
Desk Length - "88"

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

8881053570 Kit, Arm Pad w/ Screws, Desk Length (Pair) 2 11 A
8881053571 Kit, Arm Pad w/ Screws, Full Length (Pair) 2 11 A

1111714 Package, Screw Phillips Pan Head (#10-32 x 1-1/8") 2 22
1019978-NLA NLA - Tube, Armrest, Black - Right 1 13
1019979-NLA NLA - Tube, Armrest, Black - Left 1 13

1027097 Plug Button, Black (3/4") 1 24
1025729 Screw, Phillips Pan Head Tap (#8-32 x 3/8") 1 25
1116900 Screw, Self Tapping (#6-20 x 1/2") 1 65
1015450 Handle, Quad Release 1 26
1018225 Spring, Torsion with Button Lock 1 27
1020060 Plug, Arm 1 28

1123305-NLA NLA - Kit, Clothing Guard, Desk Length w/ Screws
(Pair)

1 19 D,E
1003400 NLA - Screw, Socket Head (1/4-20 x 7/8") 1 110

1019842-NLA NLA - Socket, Armrest, Front 1 111
1016291 Cap, Hub, Black 1 112

7930364-NLA NLA - Package, Locknut (1/4-20) 25 113
1016290-NLA NLA - Washer, Caplugs (9/32 x 1 x 3/32") 1 114

1015426 Spacer, Coved Cam - Right 1 115
1015427 Spacer, Coved Cam - Left 1 115

1023968-NLA NLA - Screw, Socket Button Head (1/4-20 x 1-7/16") 1 116
1023975-NLA NLA - Bushing (3/8 x 3/4 x 3/8") 1 117

1015856 Socket, Armrest 1 118
1036503-NLA NLA - Hardware, Attaching, Armrest 1 119 B
1036509-NLA NLA - Arm Assembly, Desk Length, Black - Right 1 120 C,E
1036510-NLA NLA - Arm Assembly, Desk Length, Black - Left 1 120 C,E

A - Specify upholstery color, see page titled "Frame Finishes and Upholstery Colors"  
B - Includes items 10-18  
C - Includes items 3-9  
D - Clothing Guards are not sold individually.  Kit includes clothing guards, screws and decals.  
E - Due to Clothing Guard change, it is recommended (for chairs built Before 11/25/03) when only one Arm is requested the 

Clothing Guard Kit (p/n 1123305) be ordered also so that the arms will match.  

NOTE:

 


